Strategies for Simplifying Expressions

1) Change the expression into sines and
cosines.

2) Look to use known formulas for purposes of
substitution.

3) If there are fractions, gain a common
denominator.

4) Use algebraic manipulations, like factoring,
distributing, ...

5) If a strategy or substitution proves not to
help, try something different.

There is usually more than one way to simplify

a trigonometric expression. On the following pages
is just one example of how to simplify each
expression. No matter which method you use

it will lead to the same answer.

[Trigonometric Tools:]

Basic Identities:

Tang = Sing
Cosé
Cotg — 1 _ Cosé
Tano Sind
Csc= L
Sind
Sec= 1
Cosé

Simplify each trig expression:

tanx + 1

1 + cot?x
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Pythagorean Identities:

Sin%6 + Cos?6 = 1

Sin%0 = 1 — Cos?0

Cos?6 = 1 - Sin?0

Tan?0 + 1 = Sec?0

1 + Cot’6 = Csc?d
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Simplify each trig expression:

_ Cot6 _Co35
(Tanx + Cotx)(Sinx - Cosx) _ = N o A0
CscB - Sin® (En =5 ) o0
= (30 A/c;_\
(cos "Z‘}q>£’”'@5) — (oS
| — S/n&
= Sn* 4 ces™ = __ (o5
COS®

=1 _ T

. 5 Sin?x
Sin 0 O
+ Cosb Cosx Tanx
Cosf N
, — o
= o +Cost | (o (oS & o)
Cosd ] cos 605
. 2 =5
= 3T o8 gtee | = 220 onx

(os Cos o8 = 55 = S & Sz




You can now finish Hwk #24: Sec 14-1 SecxCotx — CotrCosx
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